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Since —1 < x < 1 the series is uniformly converge, and apply Taylor’s inequality theorem.

Because the series is uniformly converge we can derivative term by term. So we have
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Again, the series is uniformly converge we can multiply x both side. So we have
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3. (79)
(1) BF f(x) & v =a L2BERBBER Pr(z). (3%)
(2) E()H, 8 f(z) = Ba=1 RK Py(z).(4%)

sol: (1)

Py) = f(a) + L0 )+ D00 oy

(2)
Put f(z) =, a=1in (1), f'(z) = 2z¢* and f"(z) = 2¢* + 422"
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Py(z) = f(1)+#(x—1)+%(x—1)2 =e+2e(x—1)+

(x—1)* = 3ex® —dex+2e



